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BB [ e # = R |BRE|[ER| BE|(CH|KREeERF |8

pg|fe%| AEME | BR O E & | B penlvy my| sl ssamlEae] FOF
1HA (4% | 1 F |EdsmiRst 117.03 |B2ER=E 1 12.75 | 1 1 1 733 36 12.75 1| O
15f 1F SRE 2 11.90 | 1 1 1 733] 36 11.90 | O
14Hf 1F NiE = 9.29 | 1 1 1 733] 36 9.29 | O
154 1F P2RE 3 27.09 | 1 1 1 733] 36 27.09 | O
15f 1F hEFe 41.02 | 1 1 1 733] 36 41.02 1 O
158 1F JZFy47b 3.98 | - - - - - - -
18 |1E (1 F 5 LnyI1-4- 357 - | - - - - - -
14f 1F DS PS 7.43 | 4 - - - - - -
154 1 F D EmE SRl 69.51 |E2==E 3 10.53 | 1 1 1 733 36 10.53 | O
154 1F Z2EE 4 10.26 | 1 1 1 733] 36 10.26 | O
14f 1F PRESD 10.26 | 1 1 1 733] 36 10.26 | O
154 1F NE=E 23.58 | 1 1 1 733] 36 23.58 | O
181|322 |1 F =4 12.07 | 1 1 1 733] 36 12.07 | O
14f 1F EPS 2. 81 4 - - - - - -
154 1F |BRsaE 197.97 [ME=E 1 12.44 | 1 1 1 733] 36 12.44 | O
154 1F |ReRov g NEE 2 10.17 | 1 1 1 733] 36 10.17 | O
14f 1F [WLEZE 3 10.17 | 1 1 1 733] 36 10.17 | O
154 1F SRE | 13.44 | 1 1 1 733| 36 13.44 | O
18 [ |1F SERE 2 13.44 | 1 1 1 733] 36 13.44 | O
154 1F JRE 3 13.44 | 1 1 1 733] 36 13.44 | O
154 1F SRE 4 12.03 | 1 1 1 733 36 12.03 | O
14f 1F FMHE- VY -=F 26.44 | 1 1 1 733] 36 2644 1 O
158 1F BME 9.50 | 1 1 1 733] 36 9.50 | O
154 1F AR Y IAR—=R 16.73 | 1 1 1 733] 36 16.73 | O
14f 1F FEFE 49.07 | 1 1 1 733] 36 49.07 | O
154 1F SR 6.33 | 1 1 1 733] 36 6.33 | O
154 1F PS 2.27 1 4 - - - - - -
14f 1F PS 2.50 | 4 - - - - - -
154 1F [WREFE 112.53 [E2E=E 5 16.09 | 1 1 1 733 36 16.09 | O
15f 1F ZSEE 6 15.30 | 1 1 1 733] 36 15.30 | O
144 1F AE = 15.75 | 1 1 1 733] 36 15.75 | O
14f 1F BREE 43.03 1 1 1 133 36 43.03 @)
14f 1F =47 10. 71 1 1 1 733] 36 10. 71 @)
158 1F hEFE 9.70 | 1 1 1 733] 36 9.70 | O
154 1F PS 1.95 ] 4 - - - - - -
14f 1F [ZMHEEM K 76.91 |ALEE 13.09 | 1 1 1 733] 36 13.09 | O
154 1F B ER 11.25 | 1 1 1 733] 36 11.25 1 O
154 1F ZHERE2 11.25 | 1 1 1 733] 36 11.25 | O
14f 1F FEFE 18.97 | 1 1 1 733] 36 18.97 | O
154 1F 2B=E3 11.25 | 1 1 1 733] 36 11.25 1 O
154 1F ZSER=E4 11.10 | 1 1 1 733 36 11.10 | O
14f 1F [/MNESE 75.93 |BRE=E 14.92 | 1 1 1 733] 36 14.92 | O
158 1F nE - BEE 14.92 | 1 1 1 733] 36 14.92 | O
14f 1F PRE 16. 41 1 1 1 733] 36 16. 41 @)
154 1F hFS 22.00 | 1 1 1 733] 36 22.09 1| O
154 1F 24T 5.18 | 1 1 1 733 36 5.18 1 O
14f 1F PS 2. 41 4 - - - - - -
154 1F [/MNEFR 214.57 [IMNVEZRE 15.00 | 1 1 1 733] 36 15.00 | O
154 1F A& AITE = 15.00 | 1 1 1 733] 36 15.00 | O
14f 1F hiEFe 45. 01 1 1 1 733] 36 45. 01 @)
158 1F =17 10.45 | 1 1 1 733] 36 10.45 | O
154 1F PS 1.78 | 1 - - - - - -
14Hf 1F B OEEE 14.88 | 1 1 1 733] 36 14.88 | O
158 1F fmil e = 14.50 | 1 1 1 733] 36 14.50 | O
15f 1F U *— HIE=E 16.02 | 1 1 1 733] 36 16.02 | O
144 1F INEEMLEE 15.47 | 1 1 1 733] 36 15.47 | O
154 1F INVESERE 1 16.50 | 1 1 1 733 36 16.50 | O
14f 1F INVESEREE 2 13.65 | 1 1 1 733] 36 13.65 | O
154 1F IMVEEE 3 13.65 | 1 1 1 733] 36 13.65 | O
154 1F INVEPEREE 4 15.02 | 1 1 1 733] 36 15.02 | O
14f 1F DS PS 472 | 4 - - - - - -
154 1F {Efr 2.92 1 5 1 1 733] 36 2.92 | O
154 1F|FA0E— 378.66 |[FE O E— 310.75 | 1 1 1 7331 36/ 310.75 | O
14f 1F BFEm 25.03 | 5 1 1 733] 36 25.03 | O 2B H
154 1F ZFEm 21.97 | b 1 1 733] 36 21.97 1 O 2\ H
154 1F BF{ER 1 3.77 1 5 1 1 1096] 36 3.7 | O 2B H
14f 1F BBFER 2 4. 01 5 1 1 1096] 36 4.01 @) 2B H
158 1F INBE R E 9.98 | 1 1 1 733] 36 9.98 | O
154 1F ALy Fr—ES 3.15 | 1 1 1 733 36 3.15 1 O
154 1F 9.62 |PS 4. 41 4 - - - - - -
154 1F EPS 5,21 | 4 - - - - - -
21 1F (95 198. 81|m@E= 1 (x F—<si5%) 18.54] 1 1 1 733 36 18. 54 [@)
21 1F MEE 2 24.60[ 1 1 1 733 36 | 24.60 O
21 1F BREE 19.07] 1 1 1 733] 36 19.07 O




BB | e # = . |KRE|EFF|FR| BE|CH | Les5RE| 8

e IR e I s e e I 1
21 1F PEE | 8.60] 1 1 1 733 36 8. 60 [@)
21 1F PDRE 2 8.55] 1 1 1 733] 36 8.55 O
288 |44 (1 F PERE 3 8.55] 1 1 1 733 36 8.55 @)
21 1F ZEE 4 9.05] 1 1 1 733 36 9.05 O
28 (£ |1 F B 8.55] 1 1 1 733 36 8. 55 O
24 1F = 5.18] 1 1 1 733] 36 5.18 [@)
281 |2 |1 F Ry TAR—R 30.99] 1 1 1 733] 36 [ 30.99 O
24 1F hEFa 38.86] 1 1 1 733 36 38. 86 @)
28 |\ (1 F =4+t 11.07] 1 1 1 733] 36 11.07 [@)
21 1F DS PS 4.90] 4 ] — | — - - - —
2] 1F PS 230 4 [ = | = - — — —
21 1F A% 698. 37(ERBAZE 1 4.50] 1 1 1 733 36 4. 50 [@)
21 1F SHEAE 2 4.42] 1 1 1 733 36 4.42 O
2] 1F PERE 1 8.55] 1 1 1 733 36 8.55 [®)
21 1F PRE 2 8.55] 1 1 1 733 36 8. 55 [@)
21 1F PR=E 3 8.55] 1 1 1 733] 36 8.55 O
2] 1F PERE 4 8.93] 1 1 1 733 36 8.93 [®)
21 1F PER=ES 8.55] 1 1 1 733 36 8. 55 [@)
2#f 1F PDEE 6 8.55] 1 1 1 733 36 8. 55 O
24 1F PER=E ] 8.55] 1 1 1 733 36 8.55 [@)
21 1F PR=E § 8.93] 1 1 1 733 36 8.93 O
21 1F PEE 9 8.55] 1 1 1 733 36 8. 55 @)
24 1F BERE 10 8.55 1 1 1 733 36 8. 55 [@)
21 1F PDEE 11 8.55 1 1 1 733 36 8.55 O
24 1F PEE 12 9.16] 1 1 1 733 36 9.16 O
21 1F BERE 13 8.93] 1 1 1 733 36 8.93 [@)
211 1F PEE 14 8.93] 1 1 1 733 36 8.93 O
24 1F PE=E 15 8.55] 1 1 1 733 36 8.55 O
21 1F PEE 16 8.55] 1 1 1 733 36 8. 55 [@)
21 1F PDEE 17 8.55 1 1 1 733] 36 8. 55 O
2] 1F PEE 18 8.85] 1 1 1 733 36 8. 85 [@)
24f 1F PEE 1 (HERED 15.39] 1 1 1 733 36 15. 39 @)
24 1F PERE 2 (MERED 17.10] 1 1 1 733 36 17.10 @)
28] 1F 2B Y TAR—ZR | 15.50] 1 1 1 733] 36 15. 50 [@)
21 1F ABYTAR—ZR 2 26.37] 1 1 1 733] 36 | 26.37 O
21 1F A Y TAR—R 3 30.64] 1 1 1 733] 36 | 30.64 O
24 1F hEa 49.63[ 1 1 1 733] 36 | 49.63 [@)
21 1F hiEs 50.82[ 1 1 1 733] 36 | 50.82 O
2] 1F hEHs 35.62] 1 1 1 733] 36 | 35.62 O
21 1F EEREE 10.12] 1 1 1 733] 36 10. 12 [@)
21 1F hRNEE 156. 12| 1 1 1 733] 36 | 156.12 [ O
2] 1F Ly KSLE 31.79] 1 1 1 733] 36 | 31.79 [®)
21 1F S 33.20] 1 1 1 733] 36 | 33.20 [@)
248 1F 24 (FiE - FRHNEE 20.59] 1 1 1 733| 36 20.59 @)
24 1F EBE 4.17] 1 1 1 733] 36 6.76 [@)
21 1F PREEEE 8.80] 1 1 1 733] 36 8. 80 O
248 1F PS DS 9.49] 4 | — | — - — — —
24 1F PS 12.82] 4 [ = | — - — — —
21 1F EPS 4.95] 4 | — | — - - - —
2 1F |[#B2EH 110. 00[E2 &= 1 8.22] 1 1 1 733 36 8.22 O
24f 1F [BRPER PERE 2 8.22] 1 1 1 733] 36 8.22 @)
21 1F PER=E 3 8.22] 1 1 1 733 36 8.22 O
24 1F B R 8.15] 1 1 1 733] 36 8.15 O
21 1F = 9.00] 1 1 1 733] 36 9. 00 [@)
21 1F 4+ 6.20] 1 1 1 733] 36 6. 20 O
2] 1F =55 9.00] 1 1 1 733] 36 9.00 [@)
21 1F hEFa 18.70] 1 1 1 733] 36 18. 70 O
2 1F Nyhyv—FK 13.10] 1 1 1 733 36 13.10 @)
24 1F F—RIEE 5.65] 1 1 1 733 36 5. 65 [@)
21 1F EEmiEE 15.54] 1 1 1 733] 36 15. 54 O
2 1F |#&a0E— 511.43|FA0nE— 441.36] 1 1 1 733 36 | 441.36 | O
28] 1F BFEm 24.32] 1 1 1 1096] 36 | 24.32 [@) 2H@.H
21 1F ZFE 22.14] 1 1 1 1096] 36 | 22.14 O 2@ H
2#f 1F BHEFER (1) 4.07] 1 1 1 1096] 36 4.07 O 2@ H
2#] 1F BEBFEmR Q) 4.16] 1 1 1 1096] 36 4.16 [@) 2@ H
21 1F DS 6.34] 4 | — [ — - — — —
2] 1F PS 3.7 4 = | = - — — —
21 1F EPS 533 4 | — | — - — — —
1828 [0 [ 1 F | ST4RERPY 1,085.04 [#ms2=E 1 40.54 | 1 1 1 733] 36| 40.54 | O
158 1F BKRE 1.36 | 1 1 1 733] 36 1.36 [ O
144 1F BRE 1.36 | 1 1 1 733] 36 1.36 | O
148 1 F |&2Br CT - MRI el E 2 38. 81 1 1 1 733] 36 38. 81 @)
18] [R|1F BRE 1.54 | 1 1 1 733 36 1.54 1| O
144 1F BRE 1.54 | 1 1 1 733] 36 1.54 1| O
148 1F BRE 1.51 [ 1 1 1 733] 36 1.51 ] O




BB | e # = . |BRE|ER|FR| BR[| LeEF| 8

pg [P MEMIE | BR | E & | BR \pwivo mk| aklEe snamlEe] ®
18 (2|1 F a2 E 3 27.14 | 1 1 1 733 36 21.14 | O
148 1F BRE 1.54 | 1 1 1 733 36 1.54 1| O
158 1F BKRE 1.54 [ 1 1 1 733] 36 1.54 [ O
180 & |1 F g E 4 48.36 | 1 1 1 733 36 48.36 | O
148 1F BRE 6.63 | 1 1 1 733 36 6.63| O
144 1F B E 6 38.28 | 1 1 1 733 36 38.28 1 O
144 1F BRE 1.76 | 1 1 1 733] 36 1.76 | O
144 1F {EFT 1.60 | 1 1 1 733] 36 1.60 | O
144 1F wBE=E 1 28.72 | 1 1 1 733 36 28.72 1 O
144 1F BRE 1.75 | 1 1 1 733] 36 1.75 1 O
144 1F {Err 1.67 | 1 1 1 733] 36 1.67] O
147 1F CPU 1.57 [ 1 1 1 733] 36 1.57] O
148 1F S 1.18 [ 1 1 1 733] 36 1.18 [ O
147 1F US 1.59 [ 1 1 1 733 36 1.59 [ O
144 1F me2E 8 23.59 | 1 1 1 733 36 23.59 | O
148 1F BRE 1.54 | 1 1 1 733 36 1.54 1| O
1458 1F Edsil 1.561 ] 1 1 1 733] 36 1.51 [ O
147 1F wmeE 11 38.43 [ 1 1 1 733] 36] 38.43[ O
148 1F REE 12 34.80 | 1 1 1 733] 36| 34.80 | O
154 1F IREZE 5 14.02 | 1 1 1 733] 36 14.02 | O
1454 1F REE 8.10 | 1 1 1 733] 36 8.10 | O
148 1F EH=E 19.73 | 1 1 1 733] 36| 19.73 ] O
147 1F =4 14.16 | 1 1 1 733] 36] 1416 | O
147 1F EE 19.82 | 1 1 1 733] 36| 19.82 | -
147 1F e 8.05 [ 1 1 1 733] 36 8.05 ] O
147 1F CR= 39.79 [ 1 1 1 733] 36] 39.79 | O
148 1F FE=E 29.52 | 1 1 1 733 36 29.52 | O
1458 1F BRI 1.42 [ 1 1 1 733] 36 1.42 [ O
147 1F US 1.67] 5[ 1 1 733] 36 1.67] O
14f 1F BrstgsmE=| 12.43 [ 1 1 1 733] 36] 12.43] O
158 1F EEh - FER=E 67.69 | 1 1 1 733 36] 67.69 | O
147 1F EEHIEE 19.89 [ 1 1 1 733] 36] 19.89 | O
148 1F HEE 9.82 | 1 1 1 733] 36 9.82 | O
147 1F LEE 8.45 | 1 1 1 733 36 8.4 | O
147 1F B=E US .71 5 [ 1 1 733] 36 .71 O
147 1F RRE 2.49 | 1 1 1 733] 36 249 [ O
147 1F [EdGn 1.68 | 1 1 1 733] 36 1.68] O
148 1F B 717.01 1 1 1 733 36 717.01 O
147 1F $21E=E 3 36.01 | 1 1 1 733] 36] 36.01 [ O
154 1F BEE 3 FIE 13.86 | 1 1 1 733 36] 13.86 | O
148 1F {Err 1.86 | 1 1 1 733 36 1.86 | O
1458 1F BKRE 1.52 [ 1 1 1 733] 36 1.52 [ O
147 1F BRE 1.52 [ 1 1 1 733] 36 1.52 [ O
148 1F BRE 1.61 | 1 1 1 733 36 1.61 ] O
147 1F w2 E 9 MRI 35.70 | 1 1 1 733] 36] 35.70 [ O
147 1F a2 = 10 MRI 28.40 | 1 1 1 733] 36] 28.40 [ O
148 1F MR = 35.87 ] 1 1 1 733 36] 35.87] O
158 1F IEE 3 8.84 [ 1 1 1 733] 36 8.84 [ O
1488 1F EE 4 8.85 [ 1 1 1 733 36 8.85 [ O
147 1F HHEEE 11.75 | 1 1 1 733] 36 11.75 | O
144 1F FIES 6.05 | 1 1 1 733 36 6.06| O
147 1F A= US 1.87 1 5 [ 1 1 733] 36 1.87 ] O
1458 1F [ 1.53 [ 1 1 1 733] 36 1.53 [ O
154 1F R{EERT 156.86 | 1 1 1 733 36| 156.86 | O
148 1F PS 3.00] 41 - - - - - -
147 1F PS 469 41 -1 - - - - -
147 1F EPS 520 41 - - - - - -
148 1F J=&55 1.53 [ 1 1 1 733] 36 1.53] O
147 1F EE 11.12 ] 1 1 1 733] 36| 11.12 | O
147 1F [gaoe—| 203.58 |[F& 123.06 | 1 1 1 733] 36] 123.06 | O
147 1F FE 80.52 | 1 1 1 733] 36| 80.52 | O
147 1F [REEE 2 458.21 |NfREE= 1,2, 3 82.42 | 1 1 1 733] 36] 82.42 ] O
147 1F REE= 4,5 47.10 [ 1 1 1 733] 36] 47.10 | O
144 1F hro7LUR=E] 18.68 | 1 1 1 733 36| 18.68 | O
147 1F EH=E 22.17 | 1 1 1 733] 36| 2217 O
148 1F ZRIEE 7.90 | 1 1 1 733] 36 7.90 | O
147 1F RIREE 6 34.78 | 1 1 1 733 36] 34.78 | O
147 1F HIES 4.96 | 1 1 1 733] 36 49 | O
1#f 1F BLEE 16.62 | 1 1 1 733] 36| 16.62 | O
144 1F )N —F 15.23 | 1 1 1 733] 36 15.23 | O
147 1F A5y )—Ls 17.07 | 1 1 1 733] 36] 17.07 ] O
147 1F 24t 9.36 | 1 1 1 733 36 9.36 [ O
147 1F BT (&8) 154.62 | 1 1 1 733] 36] 154.62 | O
147 1F BEFER 8.76 [ 5 | 1 1 1096] 36 8.76 | O
147 1F T FEFR 7.89 ] 5 | 1 1 1096] 36 7.89] O




BB | e & = . |KRE[EFFR[EFR] BR[| REE5F | Y
pg|E| AMEME | BR | 2B | B \knln o] me|an| sken a0 >
144 1F PS 416 | 4 - - - - - -
148 1F PS 6.49 | 4 - - - - - -
144 1F [FRFEERE 309.76 [FREFFE 101.24 | 1 1 1 7331 36/ 101.24 | O
144 1F REEZ=E 9.07 | 1 1 1 733] 36 9.07 | O
148 1F BFERE 10.97 | 5 1 1 733] 36 10.97 | O 2\ H
144 1F TFERE 16. 81 5 1 1 733] 36 16. 81 @) 2B H
144 1F BB FERE 4.68 | 5 1 1 733] 36 4.68 1 O 2[H
144 1F BZEDW 1.39 | - [ - — - - - -
144 1F PS 2. 81 4 - - - - - -
144 1F ERTF - @& 19.30 | 1 1 1 733] 36 19.30 | O
154 1F BT 143.49 | 1 1 1 7331 36/ 143.49 | O
1HR (451 F (B2 1,379.80 |ICU 102 82.20 | 1 1 1 1096] 36 82.20 1 O 2B H
144 1F R — ICUEZ=E 101 30.53 | 1 1 1 1096] 36 30.53 | O 2[E.H
144 1F ICUE= 103 22.80 | 1 1 1 1096] 36 22.80 | O 2[\lH
144 1F HCU (1FR) 104] 20.04 | 1 1 1 1096] 36 20004 | O 2B H
188 5% |1 F HCU (1FR) 1051 19.80 | 1 1 1 1096] 36 19.80 | O 2@\ H
144 1F HCU (4Fk) 106] 41.64 | 1 1 1 1096] 36 41.64 | O 2@\l H
144 1F HCU (4FR) 107 43.14 | 1 1 1 1096] 36 43.14 | O 2[EH
144 1F EE 80.00 [ 1 i 1 1096] 36] 80.00 | O 2E.H
18 |2 |1 F VEEIREE 3. 81 1 1 1 1096] 36 3. 81 @) 2[BlH
144 1F ERREE 8.97 | 1 1 1 733] 36 8.97 | O
144 1F BENEE 17.97 [ 3 [ 1 1 733] 36/ 17.97 | O
144 1F BME 29.89 | 1 1 1 733] 36 29.89 | O
18 |1 F jEE=E 7.09 | 1 1 1 733] 36 7.09 | O
144 1F IEYF 11.50 | 1 1 1 733] 36 11.50 | O
144 1F BHRE 11.04 | 1 1 1 733] 36 11.04 | O
148 1F ERE 6.16 | 1 1 1 1096] 36 6.16 | O
144 1F FEN 3.46 | 5 1 1 733] 36 3.46 | O
144 1F BRI = 3.48 | 1 1 1 733] 36 3.48 | O
148 1F ZFEm 1.54 | 1 1 1 1096] 36 1.54 | O 2\ H
144 1F BF{ErT 7.62 | 1 1 1 1096] 36 7.62 | O 2\ H
144 1F HhoIT7LURE 3413 | 1 1 1 733] 36 34.13 1 O
144 1F EH=E 6.52 | 1 1 1 733] 36 6.52 | O
144 1F WIE=N 37.42 | 1 1 1 733] 36 37.42 1| O
144 1F F=A=L 39.37 | 1 1 1 733 36 39.37 1 O
144 1F HEE 8.46 | 1 1 1 733] 36 8.46 | O
144 1F & —J— 3.85 | 5 1 1 733] 36 3.85 | O
144 1F ZSRE | 14.09 | 1 1 1 733 36 14.09 | O
144 1F SRE 2 9.38 | 1 1 1 733 36 9.38 | O
154 1F {FFT (E#T R 8.25 | 1 1 1 1096] 36 8.25 | O 2E.H
144 1F = 13. 41 1 1 1 733] 36 13. 41 O
144 1F Ed 3 22.34 | 2 3 2 733] 36 22.34 -
144 1F wma2=E 13(CT) 27.52 | 1 1 1 733] 36 21.52 | O
144 1F BER 19.12 [ 1 1 1 733] 36/ 19.12 | O
144 1F 58 - fEEpmik g E| 48, 21 1 1 1 733] 36 48. 21 @)
144 1F MiBEEEERE 4.44 1 1 1 1 733] 36 4.44 1 O
148 1F e RKE 6.75 | 1 1 1 733 36 6.75 | O
144 1F REREKE 6.98 | 1 1 1 733] 36 6.98 | O
148 1F B APAA" -2 484 | 1 1 1 733] 36 4.84 1 O
144 1F FIES 21.18 | 1 1 1 733] 36 21.18 | O
144 1F (=) 127.28 | 1 1 1 7331 36| 127.28 | O
144 1F PEEFEE 9.11 1 1 1 733] 36 9.11 O
144 1F FIES 10.45 | 1 1 1 733] 36 10.45 | O
144 1F BT 160.33 | 1 1 1 733] 36/ 160.33 | O
158 1F WMERATLA—4— 9.67 | 1 -
144 1F BT LA—%— 5.76 | 1 -
154 1F ERT LR—%— 6.48 | 1 -
144 1F LEE | 8.54 | 1 1 1 733 36 8.54 | O
144 1F YEE 2 8.54 | 1 1 1 733] 36 8.54 | O
144 1F A= US 1.68 | 5 1 1 733| 36 1.68 | O
144 1F S 1.68 | 1 1 1 733] 36 1.68] O
144 1F PS 1.32 | 4 - - - - - -
144 1F PS 0.90 | 4 - - - - - -
144 1F PS 3.16 | 4 | - — - - - -
144 1F PS 0.85| 4 - - - - - -
144 1F PS 1.10 | 4 - - - - - -
144 1F PS 1.20 ] 4 - - - - - -
144 1F PS 1.18 | 4 - - - - - -
144 1F PS 117 4] - | - - - - -
144 1F PS 0.55 | 4 - - - - - -
144 1F EPS 9.47 | 4 - - - - - -
14} 1F ICU - HCURE™ - 214 44 | 1 1 1 733] 36] 214441 O
188 [#E |1 F |ZEHFIER 615.70 |FAFI=E 160.17 | 1 1 1 7331 36/ 160.17 | O
144 1F ETES 47.08 | 1 1 1 733] 36 47.08 | O
1H4 1F EREEE 132.91 [ 1 1 1 733] 36] 132.91 | O




BB | e # = . |KRE|EFF|FR| BE|CH | Les5RE| 8
pg|fes| AEMIE | BR | E & | BR gl my| aelae ssamlar] ®OF
188 |46 (1 F HEl P RE 19.00 | 1 1 1 733] 36 19.00 | O
148 1F ERE 37. 01 1 1 1 733] 36 37.01 O
144 1F H1)—)—.I 1| 13.57 ] 5 — - - - - -
188 |BB (1 F g)——L 2| 2172 5| - — - - -
148 1F I7YI—%F 426 5 | - - - - - -
144 1F I7S v )—FHE 6.87 | b - - - - - -
18 P9 |1 F DI= 32.23 | 2 3 2 733] 36 32.23 -
158 1F SBE 58.54 | 2 ] 3 2 733 36| 5854 | -
144 1F ERIEHRE 19.00 | 2 3 2 733] 36 19. 00 -
144 1F HFOAYH—)L—L 6.77 | 2 3 2 733] 36 6.77 -
154 1F BZOyh—IL—L 4541 21 3 2 733] 36 454 | -
144 1F EREHERE 33.12 | 1 1 1 733] 36 33.12 1 O
148 1F BREZRO 7. 51 1 1 1 733] 36 7.51 O
144 1F RERE= 5.29 | 1 1 1 733] 36 529 | O
144 1F PS 6. 11 4 - - - - - -
147 1F [ERFGA - 119.91 |EFSFE&0E— [ 119.91 [ 1 1 1 733 36| 119.91 ] O
2H) | B |1 F |BREHE - 219. 25|mmimmnz orEmE%E) 48.36 2 3 2 312 — 48. 36 —
21 1 F |E&EMEH% REEEHEEE 41.80[ 2 | 3 2 312 — 41.80 —
281 [E|1F BEEMEE 1 6.76] 2 | 3 2 312 — 6.76 —
2 1F BEEEE 2 6.76] 2 3 2 312] — 6.76 —
24f 1F EEMEE 3 7.96] 2 3 2 312] — 7.96 —
21 1F EEMEE 4 8.08] 2 3 2 312] — 8.08 —
24 1F EEEEE S 10.55] 2 [ 3 2 312 — 10. 55 —
21 1F EEEHR—F— 23.10] 2 | 3 2 312 — 23.10 —
2H#j 1F EEEREELRE 34.17] 2 3 2 312] — 34.17 —
21 1F PS 8.34] 4 | — | — — — — —
211 1F BT 23.37] 1 1 1 733] 36 | 23.37 O
24 1F |[EERE 314. V| EEREHRE 128.56] 2 | 3 2 312 128.56 —
21 1F 8817 7.720 2 1 3 2 312 — —
2 1F NBBE= 4t 81.82[ 2 3 2 312 81.82 —
2] 1F PS 6.08] 4 | — [ = — — — —
21 1F PS 0.18] 4 [ — | — — — — —
24 1F DS 9.9l 4| — | — — — — —
24 1F 0A 9.68] 4 | — [ — — — — —
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24 1F PS 7.21] 1 - | - — — — —
24 1F EPS 1299 1 [ = [ = — — — —
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14 2F L—5—AmmrE=]| 15.80 | 1 | 1 1 733 36| 15.80 | O
187 2F BEE 11.46 | 1 | 1 1 733 36| 11.46 | O
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18] 2F 244 11.29 1 | 1 1 733 36 11.29 | O
18] 2F E= 15.60 | 1 | 1 1 733 36| 15.60 | O
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148 2F hEFEe 12.03 | 1 1 1 733] 36] 12.03] O
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148 2F hFEe 12.03 | 1 1 1 733] 36] 12.03] O
148 2F ABYTAN -2 14.70 | 1 1 1 733] 36] 1470 | O
158 2F PS .16 [ 4] - | - - - - -
148 2 F (OREs R 122.55 |B2RE 3 33.35 | 1 1 1 733] 36] 33.35 | O
148 2F A=y k1 7.99 | 1 1 1 733] 36 7.99 1 O
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148 2F =7 = 2N -2 1.5 -] - ] - - - - -
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148 2F EEEN 16.55 | 1 1 1 733] 36] 16.55 | O
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148 2F PS 8.5 4] -] - -1 - — -
EPS 5.85 [ 4] - ] - - - - -
R 87.71 |2R=E 1 14.37 ] 1 1 1 733] 36] 14.37] O
ZZRE 2 10.92 | 1 1 1 733] 36] 10.92 | O
B = 11.34 | 1 1 1 733 36] 11.34 ] O
DEEEE 1 10.03 | 1 1 1 733] 36] 10.03 ] O
IDIEEEE 2 10.92 | 1 1 1 733 36] 10.92 [ O
FFEe 30.13 [ 1 1 1 733] 36] 30.13 ] O
{ B®RABRE 611.52 |—mis - pukmza=x| 278.19 | 1 1 1 733 36| 278.19 | O
158 2F REREE 49.86 | 1 1 1 733 36] 49.86 [ O
158 2F FFIREERER 16.14 | 1 1 1 733] 36] 16.14] O
18§ R |2 F EREER 22.96 | 1 1 1 733 36] 22.96 | O
158 2F DERZE (1) 6.05 | 1 1 1 733] 36 6.06 [ O
148 2F DEXNZE (2 6.35 | 1 1 1 733] 36 6.35 [ O
189 |2 |2 F DERZE Q) 9.46 [ 1 1 1 733] 36 9.46 [ O
158 2F BRERREE 10.27 | 1 1 1 733 36] 10.27 ] O
148 2F BREBRE 10.86 | 1 1 1 733 36] 10.86 [ O
18 [ |2 F RILZ —fERE 20.70 | 1 1 1 733] 36] 20.70 [ O
1458 2F B iE = 39.01 [ 1 1 1 733] 36] 39.01 [ O
148 2F SERESA 24.78 | 1 1 1 733] 36] 24.78 ] O
148 2F FAOE— 100.48 | 1 1 1 733] 36| 100.48 [ O
184 2F EEFSN] .39 | - - | - -1 - - -
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148 2F EEE 39.87 | 1 1 1 733] 36] 39.87 ] O
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148 2F EAEER 24.69 | 1 1 1 733] 36] 24.69 [ O
148 2F SH0F—LE 2041 [ 1 1 1 733 36] 21.41 ] O
148 2 F [HERE 190. 78 | IR E = 54.16 | 1 1 1 733] 36| 5416 [ O
184 2F pERpEE@-® 3] 12.30 | 1 1 1 733] 36 12.30 | O
148 2F 2 gaEE - 2| 10.96 | 1 1 1 733 36] 10.96 [ O
144 2F REgpEEC- 1| 11.99 | 1 1 1 733] 36 11.99 | O
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144 2F iR = (2) 11.46 | 1 1 1 733] 36 11.46 | O
15§ 2F BIEE 12.97 1 1 1 733 36 12.97 | O
148 2 F DERE HE) 11.25 | 1 1 1 733] 36 11.25 1 O
144 2F R Em % 19.40 | 1 1 1 733 36 19.40 | O
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144 2F BEERIE 570 | 1 1 1 733] 36 570 | O
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144 2F| & 48— NICUEZEE = 6.25 | 1 1 1 1096/ 36 6.25 | O 2[E/8
154 2F E-_HA—F 18.82 | 1 1 1 733] 36 18.82 | O
144 2F ME=E 27.50 | 1 1 1 733] 36 21.50 | O
144 2F MEZERIE 7.45 ] 1 1 1 733] 36 7.45 | O
181 (22 |2F BRE 2013 | 1 1 1 1096 36 20013 1| O
144 2F ERE 4.87 ] 1 1 1 1096 36 4.87]1 O
144 2F +—RI)L—L 33.53 | 1 1 1 733] 36 33.53 | O
154 2 F BEREBBTERLL S —HEE 7.18 | 1 1 1 733] 36 7.18 1 O
144 2F LEE 7.06 | 1 1 1 733 36 7.06 | O
189 |#E (2 F UB 3.69 | 1 1 1 733] 36 3.69 | O
15§ 2F LEE(Q 1. 21 1 1 1 733] 36 7. 21 O
147 2F HEREER 23.36 | 1 1 1 733] 36/ 23.36 | O
144 2F ERER 31.13 | 1 1 1 733] 36 31.13 | O
144 2F 77 LYAN-L 18. 87 1 1 1 733 36 18.87 | O
144 2 F BERFREKRE 12.96 | 1 1 1 733] 36 12.96 | O
144 2F BELXFEKRE 14.54 | 1 1 1 733] 36 14.54 | O
144 2F BFEm 2.07 | 1 1 1 1096] 36 207 ] O 2@ H
144 2F ZFEm 2.10 | 1 1 1 1096] 36 210 [ O 2E.H
148 2F EIES 4.91 ] 1 1 1 1096] 36 491 O 2@ H
144 2F EEIES 39.53 | 1 1 1 733] 36 39.53 | O
144 2F BRYRVE 14. 41 1 1 1 733] 36 14. 41 O
15§ 2F F-AT-Y3IVE 23.25 | 1 1 1 733] 36 23.25 | O
144 2F BBHME 12.36 [ 1 1 1 733] 36] 12.36 | O
144 2F HEE 6.54 | 1 1 1 733| 36 6.54 | O
144 2F HEIE 14.64 | 1 1 1 733| 36 14.64 | O
144 2F B HEE 5.97 1 1 1 733 36 5.97 | O
144 2F TELD—X 2.28 1 1 1 1 733] 36 2.28 | O
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15f 2 F {REEZE 30. 42 |EER{REEE 30.42 | 1 1 1 733] 36 30.42 | O
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134 2 F |BSER 102. 81 [B5EX 19.20 | 1 1 1 733] 36| 19.20 | O
144 2F e EX 47.74 | 1 1 1 733 36 47.74 1| O
180 |EB |2 F e ER 19. 37 1 1 1 733 36 19.37 | O
1Hf 2F 5} ERREER 16.50 | 5 | - | - - - - -
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A 2 F SIEE 3 RIE 1 1 1 733 12.13 | O
A 2F BRI UE 1 1 1 733 9.29 | O
g 2F RRE)VRVE 1 1 1 7133 5,101 O
A 2F HEXE 1 1 1 733 7.56 | O
A 2F FERE 1 1 1 733 6.66 | O
L 2 F HUT7LURIL—L 1 1 1 733 17. 41 O
A 2F +—R)L—L 1 1 1 733 24.12 1 O
A 2F BHiEEE 1 1 1 733 25.90 | O
g 2F DiER—IL 1 1 1 733 60.63 | O
A 2F DB R—ILEIE 1 1 1 733 6.24 | O
A 2F SR —ILEIE 1 1 1 733 3.56 | O
g 2F TEHE 1 1 1 1096 8.97 [ O
HA 2F M-FICU 218 1 1 1 1096 93.84 | O
A 2F FIES 1 1 1 1096 5.23 ] O
g 2F HBEIRE 1 1 1 1096 8.84 [ O
HA 2F BME 1 1 1 1096 1.70 ] O
tH 2F PENEE 1 1 1 1096 23.31 ] O




BB | e # = . |KE|FFR|FR| BE|cH|kedR| 8

pg|fes| AEPIE | BR O E & | BR gl @y aelae ssamlar] ®OF
188 2F LIEL 8.07 [ 1 1 1 1096] 36 8.07[ O
158 2F AIREL 0.42 ] 1 1 1 1096] 36 0.42 1 O
154 2F BEL 6.98 | 1 1 1 1096] 36 6.98 | O
158 2F LFREL 0.62 | 1 1 1 1096] 36 0.62] O
14f 2F |HERE 18.05 |ZEZE (1) 6.04 | 1 1 1 1096] 36 6.04 [ O
158 2F YEE (2 6.04 [ 1 1 1 1096] 36 6.04 | O
158 2F YEE Q) 597 [ 1 1 1 1096] 36 5.97 [ O
158 2 F |f8FF - iAE 23.38 |BE F{ER 2.77 [ 1 1 1 1096] 36 2.71 ] O
158 2F 33 419 ] 1 1 1 1096] 36 419 O
158 2F BE 5.96 | 1 1 1 733] 36 5.96 [ O
134 2F BE 6.45 | 1 1 1 733] 36 6.45 [ O
158 2F BE 401 ] 1 1 1 733] 36 401 [ O
1Hf 2F [ZFDih 7.31 [ 285 2.181 4 | 1 1 733] 36 2.18 [ O
154 2F JIEH 513 | 4 1 1 733] 36 5131 O
158 2F [BRTF - B 282.21 |R T 282.21 | 1 1 1 733 36| 282.21 ] O
144 2F |[TLR—42— 39.00 |TLAR—4a—#m=l 11.21 ] 4 | - — — — - -
158 2F gapILr—4—| 1537 -] - | - - - - -
158 2F [EURILA -5- 6.18] - | - | - - - - -
15j 2F ILR—8—S v Tk 6.24 | - | - | - - - - -
158 2 F [DS PS EPS 59. 72 |PS 30,62 4] - | - - - - -
158 2F EPS 16.20 | 4 - - - -
14f 2F LS .10 4] - - - - - -
158 2F DS-PS 11.80] 41 -1 - - - - -
24 2F |[HAEE - #HE 309. 79wz oy -3 28.77] 2 | 3 2 | 312 28. 77 —
24 2F |E HHEE 55.45] 2 | 3 1 2 ] 312 55. 45 —
24f 2F HHELR B EHE PS 13.14] 4| — | — — — — —
214 2F HUIFLURE 49.38] 2 | 3 2 | 312 49. 38 —
21 2F HELBEEHE 21.78] 2 3 2 | 312 21.78 —
21 2F HHE= 1 46.65] 2 | 3 2 | 312 46. 65 —
214 2F HHEE 2 49.56] 2 | 3 2 | 312 49. 56 —
24§ 2F HHE= 2 PS 317l 4 | = | — — — — —
21 2F HEE 3 (BEX) 41.8] 2 | 3 2 | 312 41.89 —
214 2F [HEE 188. 36| == 188.36] 2 1 1 733 188.36 | —
24 2F [+ kA 32.27| 24 bR — 28.73 2 | 3 2 | 312 28.73 —
24 2F EPS 3.54] 4 | — | — — - — —
214 2 F |ZBE#MHR—IL 2104. 16| 2 B#gk—IL 2104.16] 2 | 3 2 | 312 2104.16 | —
24 2F |BE 11.80| & & 11.80] 1] = = — — — —
214 2F [BEXRE 115. 05|24 BFEKRE 10.63] 1 1 1 733] 36 10. 63 O |myp-KR&L
214 2F PELFERE 104. 42] 1 1 1 733 36 | 104.42 | O |myp-FkED
21 2F 104 13|24 K= 104.13] 1 1 1 733 36 | 104.13 | O
214 2F |BF 136. 14| BB F 136.14] 2 | 3 1 733] 36 | 136.14 | —
2#A 2 F @k 50. 39| B F{ERr 21.83] 1 1 1 733] 36 | 21.83 O 2. H
21 2F ZFE 21.54] 1 1 1 733] 36 | 21.54 O 2@ H
24f 2F PS 495 4 1 — | = — — — —
24 2F SK 20 4] =1 = — — — —
284 2 F |spEp= 353 17|BREE 37.49] 2 | 3 2 | 312 37.49 —
21 2F Bl RE 23.55[ 2 3 2 312 23.55 —
24 2F ElREE 21.90] 2 | 3 2 | 312 21.90 —
244 2F #EE=E (1) 21.14] 2 | 3 2 | 312 21. 14 —
214 2F B (2) 24. 10 2 | 3 2 | 312 24.10 —
24 2F R (3) 19.98] 2 [ 3 2 | 312 19.98 —
24 2F ISR 35.70] 2 | 3 2 | 312 35. 70 —
24 2F EEREE 35.70] 2 | 3 2 | 312 35.70 —
2#f 2F FEDREE 26.78[ 2 3 1 733 26.78 —
24 2 F BREERE 26.78] 2 | 3 2 | 312 26. 78 —
214 2F BT 72.200 2 | 3 1 733 72. 20 —
21 2F PS 7.85] 4 [ — [ — — — — —
248 2F |&E=E 90.59|£E=E 1 37.49] 2 3 2 312 37.49 —
24 2F 2HE 2 53.10] 2 | 3 2 | 312 53. 10 —
24 2 F [#ai%5e 207. 28| 8 FREEE 195.08] 2 | 3 2 733 195.08 | —
21 2F =4 5.29] 2 3 2 | 312 5.29 —
24 2F R 4.50] 1 1 1 312 | — 4. 50 —
24 2F PS 241 4] — | — — - — —
214 2F |[ER 756. 04| ERE 41.90] 2 | 3 2 | 312 41.90 —
21 2F B 10 39.90] 2 [ 3 2 | 312 39. 90 —
214 2F ER 11 39.90] 2 | 3 2 | 312 39. 90 —
24§ 2F EB 1 24.64] 2 3 2 312 24. 64 —
21 2F ER 2 22.40] 2 | 3 2 | 312 22. 40 —
214 2F E& 3 22.40] 2 | 3 2 | 312 22. 40 —
24f 2F =R 4 22.40[ 2 3 2 312 22. 40 —
284 2F ER 5 22.40] 2 | 3 2 | 312 22. 40 —
24 2F =5 6 22.40] 2 3 2 312 22.40 —
24f 2F ER 7 22.40[ 2 3 2 312 22. 40 —
24 2F EE 8 22.40] 2 | 3 2 | 312 22. 40 —
248 2F =5 9 24.70] 2 3 2 312 24.70 —
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pg|E| AMEME | BR | B B | B \knln|ow| mk|an| skan a0 >
2 2F EE 12 19.95] 2 3 2 | 312 19. 95 —
211 2F ER 13 19.95] 2 3 2 | 312 19.95 —
2] 2F ER 14 19.95] 2 3 2 | 312 19.95 —
21 2F HEEE 104. 31| 2 3 2 | 312 104. 31 —
21 2F RIEE 6.96] 2 3 2 | 312 6.96 —
21 2F BE 4.37] 1 1 1 1096] 36 4.37 O
21 2F TFERE 4.93] 1 1 1 312 | 36 4.93 —
2#A 2F BFEFR 15.10] 1 1 1 1096] 36 15.10 O 2@ R
21 2F TFER 10.23] 1 1 1 1096] 36 10. 23 O 2@ H
21 2F BT - @i 100. 85[ 1 1 1 733] 36 | 100.85 | O
2] 2F BT - @ 81.85] 2 3 1 733 81.85 —
21 2F PS 1.70] 4 | — [ — — — — —
21 2F BRI—F— 15.24] 2 3 2 | 312 15. 24 —
21 2F HEEa—F— 18.94] 2 3 1 733] 36 18. 94 —
21 2F Sk —F— 2.97] 1 1 1 733] 36 2.97 O
21 2F EPS 0.90f 4 [ — | — — — — —
2] 2F |[BHEMEKRE 222.96| & #Ah (X)) Ek=E|  187.92| 1 1 1 733] 36 | 187.92 | O |myi-xtrk&d
21 2F XA 6.64] 1 1 1 733] 36 6. 64 O
2#f 2F TFERR 11.86] 1 1 1 133] 36 11. 86 O 2@ H
21 2F BE 6.36] 1 1 1 1096] 36 6. 36 O
21 2F DS 4.65] 4 | — | — — — - —
21 2F EPS 553 4 | — | — — — — —
2 2F BEBRLXEKRE 41.90[BFRBEFRE 17.96] 1 1 1 312 | 36 17.96 O
21 2F ZFHEERE 23.94] 1 1 1 312 | 36 | 2394 O
24 2 F |{EfR 10. 88| & F1EFR 10.88] 1 1 1 733] 36 10. 88 O
21 2 F [PS 2. 89[PS 280 4 [ — | — — — — —
24 2F 38.01|EBERIBE 1206 2 | — | — — — — —
24§ 2F NS 1279 2 1 = | = — — — —
21 2F DS 13.16] 4 [ — [ — — — — —
21 2F [BE— - FK—J 76. 43|smmnn -5-mpoe - @) 16.20] 1 1 1 733] 36 16. 20 O
2] 2F ILA -5-i-) (2) 24.45] 1 1 1 733] 36 | 24.45 O
21 2F IbA 5=l (3) 35.78] 1 1 1 733] 36 | 35.78 O
211 2 F |BEER 42 59[REER (5) 19.38] 1 1 1 733] 36 19. 38 O
21 2F BEER (6) 18.29] 1 1 1 733] 36 18. 29 O
21 2F BEEX (7) 4.92] 1 1 1 733] 36 4.92 O
284 2F |TRAL—5 21.50)|TRAL—%— 21.50) 1 [ — | — - - - — FEEH
21 2F [TLR—4— 105. 38[s kBT LAR—%— 17.83] 1] =] = — — — —
21 2F FRAILARA—4— 33.33) 1| — | — — — — —
24 2F EERTLA—4— 10. 23] 1 - | - — — — —
2#] 2F ELAILA—4— 19.50] 1| — | — — — — —
21 2F FEEATILR—%— 13.51] 1 | — | = — — — —
24§ 2F BRI LA—F—Fi= 11.38] 1 1 1 733] 36 11. 38 @)
21 2F BT - &% 3104. 2| T 3104. 42| 1 1 1 733] 36 | 3104.42 | O
28] 2F |BE=ES 6.55|7 5 —LHE 6.55) 1 | — | =] — | — — —
2#A 2 F |{EfR 22. 09| B F{F 11.26] 1 1 1 1096] 36 11.26 O 2[E . H
21 2F TFER 10.83] 1 1 1 1096] 36 10. 83 O 2@ H
211 2F (2D 2. 4| NREFD—F— 2.34] 1 1 1 733] 36 2.34 O
2 2 F [DS - PS - EPS 36.61|DS 16.80] 1 [ — [ — — — — —
21 2F PS 3.07 1 ] — | — — — - —
28 2 F EPS 16.74] 1 | = | = — — — —

2EmESE 14,345.78 14,345.78 13,520.05

134 3 F |ICU 719.15 |ICU 382 125.57 | 1 1 1 1096] 36 125.57 | O 2\ H
183 |4% |3 F ICUEZE 381 23.20 | 1 1 1 1096] 36 23.20 | O 2@\ H
144 3F ICUE= 383 23.29 | 1 1 1 1096] 36 23.29 | O 2@\ H
138 3F ICU{E = 383 RIE 544 | 1 1 1 1096] 36 544 | O 2\ H
144 3F ICUE= 384 23.29 | 1 1 1 1096] 36 23.29 | O 2@\ H
188 5% |3 F [CU{EZ=E 384 RI=E 5.44 | 1 1 1 1096] 36 544 | O 2@\ H
158 3F ICURITZE 26.20 | 1 1 1 1096 36 26.20 | O 2@ H
144 3F ICUF—XRJIL—L 37.46 | 2 3 2 733] 36 37. 46 -
144 3F K9 32—)L—Ls 18.53 | 2 3 2 733] 36 18. 53 -
188 |2 |3 F BMAR—X 8.38 | 1 1 1 733] 36 8.38[ O
154 3F M - BEERE 23.30 | 1 1 1 733] 36 23.30 | O
158 3F M= 12. 31 1 1 1 733] 36 12. 31 O
134 3F FERE 9.72 | 1 1 1 1096] 36 9.72 1 O
18] [E |3 F jFE=E 4.32 ] 1 1 1 733] 36 4.32 1 O
144 3F IEYE- 15.99 | 1 1 1 733] 36 15.59 | O
154 3F IEVETIES 11.07 | 1 1 1 733] 36 11.07 | O
154 3F TFEKRE 30.50 | 2 3 2 733] 36 30. 50 -
158 3F BFEKRE 9.28 | 2 3 2 733] 36 9.28 -
154 3F EERE 8. 11 2 1 1 733] 36 8. 11 @)
144 3F RIERKE 5.75 | 2 1 1 733] 36 575 | O
158 3F BRABRAR—R 3.61 ] 4 1 1 733] 36 3.61 [ O
144 3F =47 5.88 | 1 1 1 733] 36 5.88 | O
144 3F ERTF - @& 57.64 | 1 1 1 733] 36 57.64 | O
158 3F BXRERE 8.03 [ 1 1 1 733] 36 8.03[ O




T4 P I -  FEIERER| DR EH|GaER AT
py B /hEFIE | mEO| E 2| B pmlrs e selselesmamlarl ® %
1HA 3F EEEIT 0.71 1 1 1 733 36 0.71 O
15§ 3F IGU 208. 95 1 1 1 733] 36| 208.95 O
1HA 3F JHhNY—a—F— 7.58 1 1 1 733] 36 7.58 O
1HA 3 F |HRFf=E 2,111.98 [OP— 1 87. 71 1 1 1 - 36 87. 71 O
1HA 3F oP— 2 53. 31 1 1 1 - 36 53. 31 O
1HA 3F oP— 3 53.85 1 1 1 - 36 53.85 O
1HA 3F oP— 4 48.53 1 1 1 - 36 48.53 O
1HA 3F OP— 5 45.94 1 1 1 - 36 45. 94 O
1HA 3F OP— 6 72.03 1 1 1 - 36 72.03 O
15§ 3F oP— 7 71.23 1 1 1 - 36 71.23 O
15§ 3F OP- 7 HII=E 14.18 1 1 1 - 36 14.18 O
1HA 3F oP— 8 49. 66 1 1 1 - 36 49. 66 O
15§ 3F oP— 9 50.02 1 1 1 - 36 50. 02 O
15§ 3F 0P— 10 71.78 1 1 1 - 36 71.78 O
1HA 3F N-=-47" 34 156. 17 1 1 1 733] 36| 156.17 O
15§ 3F NI 466. 93 1 1 1 733] 36| 466.93 O
15§ 3F +39Y-Y -VHIE 10. 07 1 1 1 733] 36 10. 07 O
1HA 3F JHhNY)—a—F— 7.58 1 1 1 733] 36 7.58 O
15§ 3F RO 48 = 8. 60 4 1 1 733] 36 8.60 O
1HA 3F BCREII = 20. 74 1 1 1 733] 36 20. 74 O
18§ 3F Ny Rk%E 7.04 5 1 1 733 36 7.04 O
14f 3F Ny RERERRIE 8.13 1 1 1 733] 36 8.13 O
1HA 3F FHx—IL 32. 45 1 1 1 733] 36 32. 45 O 2[\.H
15§ 3F IT7%)— 1.60 1 1 1 733 36 1.60 O
15§ 3F NAF-IN - 8.61 1 1 1 733] 36 8.61 O
153 3F BM=E 22.38 1 1 1 733] 36 22.38 | O
1Hj 3F F/ME 2 12. 88 1 1 1 733] 36 12.88 1| O
15§ 3F MEEER 30.98 2 3 2 733 — 30.98 -
1HA 3F 0P —XRJIL—L]| 51.43 2 3 2 133] — 51.43 -
15§ 3F SEREYIRE (%) 22. 37 1 1 1 733] 36 22.37 O
1HA 3F EERA = 17.85 2 3 2 733] — 17. 85 -
1HA 3F MERRZE = 2.75 1 1 1 - 36 2.75 1 O
15§ 3F [ETTES 9.18 1 1 1 - 36 9.18 O
15§ 3F DI B RS2 = 50. 85 1 1 1 - 36 50. 85 O
15§ 3F LA TERIE 6.64 | 1 1 1 - 36 6.64 | O
15§ 3F BIEE 43.02 1 1 1 - 36 43.02 O
1HA 3F aOVEL1—AF 7.67 1 1 1 - 36 7.67 | O
1Hf 3F EEESIES 1. 41 1 1 1 733] 36 1. 41 O
15§ 3F B ENR=E 27.52 2 3 2 733 — 27.52 -
1HA 3F S 1.52 1 1 1 733] 36 1.52 O
15§ 3F Us 1.52 5 1 1 733] 36 1.52 O
15§ 3F {EFfr 1.52 1 1 1 733] 36 1.52 O
1HA 3F TFERE 29.69 2 3 2 133] — 29.69 -
1HA 3F S 1.52 1 1 1 7331 36 1.52 O
1HA 3F uUs 1.52 5 1 1 733] 36 1.52 O
1HA 3F {BFf 1.52 1 1 1 733 36 1.52 O
15§ 3F bR B UREn = 0.90 1 1 1 733] 36 0.90 O
1Hf 3 F |FRFME BFERR 7.60 | 1 1 1 733] 36 7.60 | O
1Hj 3F ZF{EFT 9.24 1 1 1 733 36 9.24 O
15§ 3F 0P NS 19.90 1 1 1 733] 36 19. 90 O
1HA 3F OP NSigiE= 5.517 1 1 1 733] 36 5.57 O
1Hf 3F NEBKRE 9.19 1 1 1 733 36 9.19 O
15§ 3F NEBERERE 4.15 1 1 1 733] 36 4.15 O
1HA 3F EES 5.08 1 1 1 733] 36 5.08 O
15§ 3F BIZE (BHO) 9.40 1 1 1 733] 36 9.40 O
1HA 3F FEHL-)L (AO) 21.33 1 1 1 733] 36 21. 33 O
1HA 3F BIZE CEE=E) 12.92 1 1 1 733 36 12.92 O
1HA 3F EIES 13. 86 1 1 1 7331 36 13. 86 O
1HA 3F ER T 21.30 1 1 1 733] 36 21.30 O
15§ 3F HEsILA -4-(15) 5.82 - - - - - - -
15§ 3F ERILA -5- (14) 7.33 - - - - - - -
15§ 3F HEAILA -4- (13) 6.24 | - - - - - - -
1Hj 3F I -4-(4) 9.27 | - - - - - -
15§ 3F HEBIN -§-FI=E 71.97 - - - - - - -
1HA 3F ERF - @& 112.15 1 1 1 733] 36| 112.15 O
15§ 3F EPS 16. 51 4 - - - - - -
15§ 3F PS 4. 43 4 - - - - - -
1HA 3F NSE 5 = 64.09 1 1 1 733] 36 64. 09 O
1HA 3F ELES 11.92 1 1 1 7331 36 11.92 O
1HA 3F L-S 2.44 | - - - - - - -
1HA 3F EYRT 25. 47 1 1 1 733 36 25. 47 O
158 3 F | E 615. 35 |ZC SRt AR = 3487 4 | - - - - - -
18] |3F TR T4 = - = [ = = -
15| |3F ERERE R I T R B -
134 3F Pl S 406.74 | 4 | - - - - - -
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pr|lE%| MEME | ER | 2 & | @ ARl AR EhEE AR " %
A 3F |OAE— - 7k—)U 16. 20 |3EE BILA -4-nt - 16.20 | 1 733] 36 16.20 | O
A 3 F |BEEX 72.20 [FEER (1) 20.92 | 1 733] 36 2092 1 O
A 3F e EX 23.36 | 1 733] 36 23.36 | O
HA 3F e EX 27.92 | 1 733] 36 21.92 1| O
g 3F|([ZTLAR—%4— 28.82 [ExmEILAR—%— 10.23 | — — — — —
] 3F BELAILA—4— 18.59 | — — | = — —
HA 3F |ERT - B 33.46 |EVH-) (3) 33.46 | 1 733] 36 33.46 | O
i 3F |[HMEEZH 8.10 |75 —LHE 496 | 4 — | = — —
A NEEFI—F— 1.05 | 1 733] 36 1.05 | O
A J3 815 2.09 | 1 733] 36 2.09 [ O
g DS - PS - EPS 3.13 |EPS 3.13 | 4 — — — —
A E =t 455. 95| RikiRE 30.61] 1 733] 36 | 30.61 O
g | b BT 102. 65 1 733 36 | 102.65 | O
B | 5 BEBAER 2.22] 1 — | - — —
T N LA RS UEENER  [BETER 495 — - =1 = =
R |5~ MLy kR——% ZF{ER 5.14] — 1096| 36 5.14 —
R | & i BF{Em 4.73] — 1096| 36 4.73
A EHE 62.56] 3 — | = —
A DN (BB ) 2.84] 5 — — —
A B 211.34] 1 — | = —
A BERE 3.36] 1 — | = —
A BEEEE 10.06] 1 — — —
A B 9.28] 1 — | = — —
A B 6.21] 1 — | = — —
A ZeSR 190. 70| Z= R = 190. 70| 4 — | = — —
A 0E— - 7k—)Y 16. 20|32 mmn -5-mmoe - @ 16.20] 1 733] 36 16. 20 @)
A B 40. 49[BEER (B) 20.92] 1 733] 36 | 20.92 O
A BEER (1) 19.57] 1 733] 36 | 19.57 O
g ILR—4— 79.57|EETLA—4— 17.42] 1 — — — —
A ERAIL~A—4— 33.33] 1 - | = — —
A EEAILA—S— 10. 23| 1 — — — —
g EEEAILA—4— 18.59] 1 — | = — — — —
A BT - B 79. 02[EViR—)L (3) 79.02] 1 1 1 733] 36 | 79.02 O
A e 4. R|7S5S—LEE 43 1| = [ =1 = | = — —
A & 22. M| BFEmT 11.45] 1 1 1 1096] 36 | 11.45 O 2E.H
A T FEm 10.99] 1 1 1 1096] 36 | 10.99 O 2E. A
A ZDith 10. 51|24 = 4.30] 1 1 1 733 36 4.30 O
A (E#BF) 3.07] 1 1 1 733 36 3.07 O
i NBREFI—F— 1.05] 1 1 1 733 36 1.05 O
A 53 EE 2.09] 1 1 1 733 36 2.09 O
A DS - PS - EPS 14.39|DS sl 1 =T =1 = 1= — —
A PS sl 1 =1 =1 = | = — —
A EPS sl 1 [ =1 =1 =1 = — —
il 3 AR 585.25 |1 RR=E 301 16.85 | 1 1 1 733 36 16.85 | O
A 7 1 1 1 1096] 36 O
HA IR AR ¥ 1RKRE 302 17.49 | 1 1 1 733 36 17.49 | O
A MRz {Err 1 1 1 1096] 36 @)
f |k FRERFL 1KRE 303 17.49 | 1 1 1 733 36 17.49 | O
A {EfT 1 1 1 1096] 36 O
g 1KRE 304 18.05 | 1 1 1 733| 36 18.05 | O
A 7 1 1 1 1096] 36 @)
H | &R 1KRE 305 17.49 | 1 1 1 733 36 17.49 | O
g {Err 1 1 1 1096] 36 @)
A 1KRE 306 17.49 | 1 1 1 733 36 17.49 | O
A {Efr 1 1 1 1096] 36 O
! 1RE 307 18.05 | 1 1 1 733 36 18.05 | O
HA {EfT 1 1 1 1096 36 O
A 1K= 308 17.49 | 1 1 1 733 36 1749 | O
A P 1 1 1 1096] 36 @)
A 1KRE 309 17.49 | 1 1 1 733| 36 17.49 | O
g {Err 1 1 1 1096] 36 @)
A 1KRE 310 18.05 | 1 1 1 733 36 18.05 | O
A {EfT 1 1 1 1096] 36 O
g 1KR=E 311 17.49 | 1 1 1 733 36 17.49 | O
A {EfRE 1 1 1 1096] 36 @)
A 1KRE 320 17. 01 1 1 1 733 36 17. 01 O
g B R 1 1 1 1096] 36 @)
A 1RE 321 17. 01 1 1 1 733 36 17. 01 O
A {Err 1 1 1 1096] 36 O
A 2K=E 312 21. 81 1 1 1 733| 36 21. 81 O
HA {EfT 1 1 1 1096 36 O
g 4K=E 313 43. 71 1 1 1 733 36 43. 71 @)
A 7 1 1 1 1096] 36 @)
HA 4KRZE 314 43.89 | 1 1 1 733 36 43.89 | O
g {ErT 1 1 1 1096] 36 @)




BB | e # = . |KE|FFR|FR| BE|cH|kedR| 8

py || NEFIE | EE | B R | BW |peva | sielae|seaeae]
1454 3F 4FKR=E 315 43.89 | 1 1 1 733] 36 43.89 | O
144 3 F | 3AfRHE {Err 1 1 1 1096] 36 O
144 3F 4FKR=E 316 43.89 | 1 1 1 733] 36 43.89 | O
1454 3F {EfT 1 1 1 1096] 36 O
134 3F 4KR=E 317 43.89 | 1 1 1 733] 36 43.89 | O
154 3F B R 1 1 1 1096] 36 @)
154 3F 4FKR=E 318 44.87 | 1 1 1 733] 36 44.87 | O
158 3F 3l 1 1 1 1096] 36 O
144 3F 4KR=E 319 33.54 | 1 1 1 733] 36 33.54 | O
144 3F {EfT 1 1 1 1096] 36 O
134 3F HCU 1EKZE 322 16.83 | 1 1 1 733] 36 16.83 | O
154 3F HCU 1 FEZE 323 21.48 | 1 1 1 733] 36 21.48 1 O
1858 3F 60. 89 |ZEZRHEEHE 28.67 | 4 | - - - - - -
158 3F TR E 1702 41 -1 - - - -
144 3F TR E 15.20 | 4 - - - - - -
144 3F 143.53 NS 65.87 | 1 1 1 733] 36 65.87 ] O
154 3F +—RI)L—L 13.50 | 1 3 2 733] 36 13.50 -
144 3F b E 4.04 1 1 3 2 733] 36 4. 04
158 3F Ky A2—)L—L 11.32] 2 | 3 2 733 36] 11.32 | -
154 3F hrodrLoZ—4i] 1516 | 1 3 2 733] 36 15.16 -
144 3F [EEES 4.14 1 1 1 1 733] 36 4.14 1 O
158 3F MEE 10.44 | 1 1 1 733 36] 10.44 ] O
144 3F EEE 10.89 | 1 1 1 1096] 36 10.89 | O
134 3F IEYE 5.69 | 1 1 1 733] 36 5.69 | O
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A 4F 2K=E 410 21.95 | 1 | 1 1 733 36 21.95| O
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A 4F HOU 1B= 422] 16.83 [ 1 | 1 1 733 36| 16.83 | O
A 4F BILE 18.79 | 1 | 1 1 733 36/ 18.79 | O
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7 4F MEE 10.44 | 1 | 1 1 733 36| 10.44 | O
A 4F e S 10.89 | 1 | 1 1 1096] 36] 10.89 | O
A 4F BH=E 6.80 [ 1 [ 1 1 733 36 6.80 | O
7 4F JEPES 560 | 1 | 1 1 733] 36 569 | O
A 4F ERAEA 206 | 4 | 1 1 733] 36 2.06 | O
A 4F 30.56 A= US 3.75 | 1 | 1 1 733 36 3.75 | O
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H 4F BFERR 551 | 1 | 1 1 1096] 36 551 | O
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28 4F A 1RZE 460 25.31] 1 1 1 733 25. 31 O
24 4 F {EFr 1 1 1 1096 36 )
28 4F ARE 459 35.54] 1 1 1 733] 36 | 35.54 O
234 4 F {EFr 1 1 1 1096 36 @)
21 4 F 4FKE 461 43.89] 1 1 1 733] 36 | 43.89 O
24 4 F {ErT 1 1 1 1096 36 ©®)
21 4F 4FRE 462 43.89] 1 1 1 733] 36 | 43.89 O
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24 4F AFKE 464 43.89] 1 1 1 733] 36 43. 89 O
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234 4 F {EFfT 1 1 1 1096 36 )
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